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(a) OTT1

—— Z,;=253R* (all data)

—— Z,=264R*2 (D,,>0.6 mm)
—— Z,=55R%09 (D,,<0.6mm)
—— Z,=513R14 (Z,>30dB2)

Zy = 200R Y6 (Marshall-Palmer)
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(c) T1

—— Z,,=220R*2 (|l data)
—— Z,,=264R3% (D,,>0.6mm)
—— Z,=50RY1 (D, <0.6mm)
—— Z,,=592R105 (Z,,>30dB2)

Zy = 200R*® (Marshall-Palmer)
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(b) OTT3

—— Z,,=256R%%7 (all data)
—— Z,,=265R%%2 (D,,>0.6mm)
—— Z,,=55R1%8 (D, <0.6mm)
— Z,=510R%13 (Z,>30dB2)

Zy = 200R %6 (Marshall-Palmer)
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(d) T3

10

—— Zy=220R*! (all data)
—— Z,=264R138 (D,,>0.6mm)
—— Z,=50R%01 (D,,<0.6mm)
—— Z,=592R10 (7,,>30dBZ)

Zy = 200R % (Marshall-Palmer)
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